vl igme WILDERNESS ROOF RACK

Trail Rack Fuel Can Hoider

Part# 34100
1-Fuel Can Holder 3-1" Square Black Plastic Piugs 2-3/4" Square Black Plastic Plugs
2-3/4" x 2" Plastic Covers 4-2" Soft Velero Strips 1-Cam Buckle Hold Down Strap
1-1/4" x 3/4" Bolt 1-1/4 Flatwasher 1-1/4 Lockwasher
2-3/18" x 2 1/4" Bolts 2-3/8" Regular Nyfon Locknuts 4-3/8 Flatwashers(1"dia.)

Installatlon Instructions

Install black plugs, velcro, and plastic covers to holder as shown.

install hold down cam buckle strap as shown,

Mount fuei can holder to side bracket on Wilderness Trail Rack as shown.

Tighten Mounting Hardware.

Feed cam buckle strap under fuel can handle to properly secure fuel can to holder.
Secure excess strap under Wilderness velcro cover.

Dok wh

NOTICE !4 -
\*L

STRAP GOES UNDERNEATH]

-

1/4 x 3/4 BOLT
1/4 LOCKWASHER
1/4 FLATWASHER

HANDLE WHEN MOUNTING

EH =

p————————
d

T [ BLACK PLUG CAM BUCKLE
[SQUARE] |
N N  — i CAM BUCKLE
} & 3/8 X 2 1/4 HOLD DOWN o

BOLTS & 3/8 STRAP

/(_ 1B 8 FLATWASHERS / ,
i SRR R - | , O| 167/~ :
(. [ pad H s

i N

\\
5 3/4" BLACK _ \

E/S NYLON PLUGS [1" BLACK PLUGS
FEET*(\A'}IE;SESCS BLACK PLASTIC COVERS[2] [SQUARE]
772
. e e 1 i

TRAIL RACK SIDE

SOFT VELCRO
2 STRIPS [4]

HOOK GOES ON CROSSBAR~——-i

| -_ﬂm

[DRAWING# WA34101] Y e Y “CROSSBAR
MFG. BY GARVIN INDUSTRIES 316 MILLAR AVE. EL CAJON, CA., 92020 [619]—440~7415.




